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Part 1: Old Text Items (Thio)

Ch. 12: Drinking and Alcoholism

01.  According to World Drink Trends (1994) which country ranks first in wine  consumption? A. France, B. U.S.A. , C. Britain, D. Austria, E. none of the above. (p.  275)
02.  The overwhelming majority of alcoholics are _____.  A.  homeless B.   incarcerated   C.  recovering alcoholics in AA programs  D. ordinary people living with their families   E.  drunk driving offenders.  (p. 276)  

03.  Which of the following statements is INCORRECT?  A. Drunk driving is the number  one cause of death among people ages 16 to 24.  B. Only a small minority of Americans  see alcohol abuse as a serious problem.  C. Beer drinkers are not as likely to become  alcoholics as people who consume “hard liquor.”  D. Alcohol is more widely used than  all illegal drugs combined.  E. Homeless persons constitute less than 5 percent of the  alcoholic population in the U.S.  (p.  276)
04.  In the U.S., masculine dominance and heavy drinking are most closely associated  among  A. Anglos  B. Hispanic Americans  C. African Americans  D.  Italian Americans   E. Chinese Americans  (p. 281)
05.  Blackouts are associated with Jellinek’s _____ stage of alcohol abuse.  A.  prealcoholic  B. hitting bottom  C. physically addicted  D. social drinker  E.  psychologically addicted  (p. 286)
06.  Which of the following is NOT a characteristic found to be associated with binge  drinking on college campuses?  A. male  B. business major  C. involved in athletics  D.  cigarette smoking  E. undereducated parents  (p. 289)
07.  According to classic social-psychological theory in sociology, the unique factor that  turns individuals into alcoholics is  A. frontloading  B. the A1 gene  C. the fit between  personality traits and values  D. the flushing response  E. having been a binge drinker in  high school  (p. 292)
Ch. 13: White-Collar and Governmental Deviance

08.  White collar deviance is  A. criminal economic deviance, B. non-criminal economic  deviance, C. for personal gain, D. for corporate gain, E. all of the above. (p. 301)
09.  According to Ermann and Lundham (1996, 1982) what is a reason that corporations  neglect their employees health and safety? A. profit maximization, B. corporate structure,  C. government reluctance to take action against offending corporations, D. shortage of  governmental enforcement personnel, E.  all of the above. (pp.301-302)
10.  OSHA is associated with deviance against  A. the government  B. employees  C.  customers  D. the occupation  E. the environment  (p. 301)
11.  _____ violations deal with companies conspiring to reduce or eliminate competition  by fixing prices.  A. advertising  B. savings and loan  C.  securities  D. antitrust  E. fraud   (p. 305)
12.  _____ is undoubtedly the most pervasive and costly form of property deviance of any  kind in the United States.  A. embezzlement  B. securities violations  C. accounting abuse   D. tax violations  E. employee theft  (p. 307)
13.  Denying the obvious and accusing the accuser are components of  A. the ritual of  wiggle  B. abusing the frank  C. society’s relative indifference  D.  deviant motivation  E.  weak social control  (pp. 317-318)

14.  According to Thio, intentional governmental deviance can best be explained by  _____ theory.  A. social reality  B. power  C. labeling  D. legal reality  E. status  frustration  (p. 322)
Ch. 14: Disreputable Economic Deviance

15.  According to Conklin (1972) which of the following is most likely an element of a  property crime? A. being coerced to rob someone, B. robbing someone in order to  support a drug habit, C. random selection of a robbery target, deciding how to carry out  the robbery, E. none of the above.  (p. 326)
16.  A strong-arm robbery uses _____ to get cash and valuables from the victim.  

A.  violence, B. threats, C. weapons, D. cursing, E. charisma. (p. 327)
17.  Which of the following is NOT a characteristic of a robbery? A. the occur outdoors,  B. weapons are likely used, C. they occur in the cold winter months, D. likely to occur in  the darkness of night, E. likely to be intraracial. (pp.  328-329)
18.  According to Thio, which of the following is most likely NOT a characteristic of a  professional robber? A. the robber will leave the city after the crime is carried out, B. the  robber sees the crime as an honest activity, C. they are young and opportunistic, D. the  crimes are well planned, E. the targets are commercial establishments with large sums of  money. (pp.  330-331)
19.  Which of the following sociologic theories does Gould (1969) use to explain  robbery? A. relative deprivation, B. economic abundance, C. feminist theory, D.  conflict  theory, E. none of the above. (p. 331)
20.  According to Thio, which of the following time of day is most likely when a  residential burglary will occur? A. midnight, B. noon, C. 9 a.m., D. 2 p.m., E.  7 p.m. (p.  334)
Part 2: Old Video and Lecture Items

Video 13A: How to Steal $500 Million

21.Five years into its sizzling “success”, Pat Finn tells Mickey Monus that it was losing  enormous amounts of money.  In the words of the video, they agree to _____ in order to  buy time in turning their situation around.  A. borrow more money, B. “piggyback” on  WalMart’s reputation, C. kite some checks, D. take a Chapter 11, E. park their losses.
22.To cover enormous losses PharMor around, Mickey Monus  started an aggressive  program of A. selling his basketball franchise at a large loss, B. putting the arm on  vendors, C. pyramid schemes masquerading as door to door sales, D.  gambling on futures  in the stock market, E. transfers of credit to foreign subsidiaries.
23.Newcomer Stan Sherilstein is persuaded to toe the line (in covering up Pharmor  losses).  He says he feared going over the heads of Finn etc. because A. he was unsure  about what was happening, B. he desparately needed his job, C.  they had incriminating  evidence that could make him the fall guy, D. he was afraid of physical harm, E. all of the above.
24.PharMor Counsel, Charity Emery, sends the CEO a confidential memo  which he tells  her to tear up.  The most incrminating feature of this memo, was that it A. would show  what the CEO knew and when it knew it, B. mentioned a tape recording of Monus  blackmailing Finn, C. referred to collusion (“price fixing”) between WalMart and  PharMor, D. reported a homosexual relationship between Pat Finn and Stan Sherilstein,  E. documented kickbacks by Monus to vendors at the retailers’ convention in Las Vegas.
25.Pat Finn tells Mickey Monus that the junior officers are threatging to quit and Monus  calls an April meeting.  Fearing that he (or she) will  personally be held to blame for the  mess,  _____ tapes the meeting.  A. Finn, B. Anderson, C.  Sherilstein, D. Monus, E.  Emery.
Video 13B: Smoke in the Eye

26.The video starts out by showing personal bodyguards safeguarding the life of _____  who had been the former _____. A. Lowell Bergman; reporter investigating tobacco  industry abuses  B. Ellen Kaden; legal counsel for Philip Moris  C. 

Jeffrey Wigand;  director of product research at Brown & Williamson  D. Andrew  Tisch; vice president at Lorilar Tobacco  E. Paul Friedman; executive vice  president at Brown & Williamson
27.According to the video, within the tobacco industry cigarettes were referred 

to as  _____. A. delivery devices for nicotine  B. tobacco sticks  C. nicotine 

fortified tobacco   D. coffin nails  E. nonaddictive packaged tobacco
28.As a result of an investigative report presented on ABC’s Day One program, _____  filed a $10 billion lawsuit against ABC accusing the network of _____. A.  Brown &  Williamson; false and malicious reporting  B. Philip Morris; willful and reckless  disregard of the facts  C. Lorilar; tortious interference  D. 

Brown & Williamson; libel and slander  E. Philip Morris; fraudulent 

Misrepresentation
29. In 1994, top executives representing _____ tobacco companies _____ to state 

that  they did not believe that nicotine was addictive.  A. 7; testified at a 

Congressional  subcommittee  B. 3; met with Food and Drug Administration 

regulators  C. 6; testified in  federal court  D. 5: released industry documents 

allowing them  E. 3: interviewed on  shows
30.Three weeks after ABC settled their lawsuit with one of the tobacco 

companies, the  producer of CBS 60 Minutes was summoned to Black Rock (CBS 

Headquarters) where  he was informed by Chief Counsel that interviewing former 

tobacco executives would  lead to legal action against CBS for _____.  A. trade 

secret infringement  B. reckless disregard of facts  C. fraudulent 

misrepresentation  D. malicious violation of executive  confidentiality  E. 

tortious interfence
Video 13C: High Crimes and Misdemeanors

31.
In the U. S., the power to declare war rests with the _____.   A. President    B. Joint  Chiefs of Staff   C. Congress   D. the President’s National Security  Advisor   E. the  Secretary of State

32.
Throughout his testimony about Iran-Contra, President Reagan frequently  cited  _____.   A. the Constitution   B. the Boland Amendment   C. the previous  testimony of  his advisors   D. his presidential oath of office   E. his faulty  memory
33.
Looking back on Iran-Contra after assuming the office of the presidency in  1989,  George Bush maintained that _____.   A. the Constitution was circumvented    B. Oliver  North was a scapegoat   C. the Boland Amendment was a “necessary  evil”   D. there was  no “quid pro quo”   E. he was unaware of the hostage  situation
34.
Former National Security Advisor, Robert McFarlane, told Frontline that for  Oliver  North, _____.   A. the arms deal itself had become more important than  the hostages   B.  his allegiance to the Constitution superseded his loyalty to  the President   C. his appeals  to the President for an end to the secret  trading went unheeded   D. the release of the  hostages was his primary concern    E. his attempt to resign had been rejected by White  House staff
35.
The term, “high crimes and misdemeanors,” relates specifically to _____.    A. an  arms-for-hostages agreement   B. the impeachment process of the President    C. Reagan’s  trickle-down theory of economics   D. a category of crimes brought  before the U. S.  Supreme Court   E. statutes involving foreign policy issues

Video 13D: Waco—The Inside Story

36.
Why did the FBI agree to radio time for David Koresh for religious messages?  A. the  release of two children for two minutes radio time B. Koresh would be  more likely to  come out C. FBI would gain community support for their present  in Waco D. the Waco  community was supportive of the Davidians E. This was a  standard FBI negotiation  strategy 
37.
What threat did Koresh make during the ATF assault?  A. If you kill one of us I’ll kill  two of you.  B. If they don’t back up we’ll have to sweep them all.  C. I’ll begin killing a  hostage if you keep shooting D. God will prevail and bring justice E. God has instructed  me to fight until you are defeated.
38.
When the Davidians bags were packed and they were prepared to leave what did the  Davidians do?  A. begin singing and broadcasting David Koresh reading the Bible over  loud speakers B. move through the facility to the buses C. destroy the contents of the  compound D. cry, pray, hug David and each other E. Discover the FBI had not provided  the promised transportation 
39.
According to Jamar why was the surrender worked out in minute detail?  A. To  guarantee that the negotiators, HRT, and the Davidians were in absolute agreement B. to  make sure the women and children would be protected C. to put the plan in their heads- create a picture D. to increase the likelihood that Koresh would comply E. To decrease  the chance that FBI agents would be killed.
40.
How did Charles Van Zandt interpret the Bra NCH Davidians from watching the  video made by Koresh? A. children were being treated well and were very happy B.  parents were very reluctant to have their children released C. all Davidians were  diligently home schooling the children in the compound D. The focus of all schooling  was religion E. he saw the total innocence of the children and the abdication of all  parental authority.

Part 3: New Text Items (Thio)

Ch. 12: Drinking and Alcoholism

41.
Which of the following statements about the impact of alcohol is NOT true?  

A.   greatly increases the drinker’s sensorimotor skills  B. does not diminish the drinker’s  moral competence  C.  moderate drinkers are generally healthier  D.  moderate drinkers  are less likely to suffer from heart disease  E.  none of the above (p. 277-78)
42.
Your text states that although at least 60% of all cirrhotics (cirrhosis of the liver) who  have stopped drinking recover from the disease within five years, _____. (best answer) A.   they are more prone to coronary heart attacks  B.  their desire for alcohol remains  C.   they suffer from increased insomnia  D.  their liver still tends to become fatty E.  their  sexual impotence persists  (p. 279)
43.
According to Thio which race/ethnicity has a higher rate of alcohol-related diseases?  A. Hispanic American, B. African American, C. Native American, D.  Chinese American,  E. Anglo American. (p. 281)
44.
Which group has the lowest rates of alcoholism, although they often drink?  

A.   Native Americans  B.  Hispanic Americans  C.  Chinese Americans  D.  

African  Americans  E.  none of the above (p. 282)
45.
Which of the following can be considered characteristics of an alcoholic?  

A.   excessive drinking  B.  psychological addiction  C.  physical addiction  D.  alcohol- related problems  E.  all of the above. (p. 286)
46.
Which of the following traits is NOT applicable for someone who is an alcoholic?   A.  antisocial  B.  rebellious  C.  relaxed and easy-going  D.  egocentric  E.  depressed (p.  291).
47.
Many new groups have developed an approach to alcoholism that is somewhat  different from AA.  Which of the following is part of that new group’s approach? 

A.
an  extensive use of drugs to take the place of alcohol to deal with stress  

B.
a need to depend  on the group to stay away from alcohol  C. a belief that alcoholics can never really be  cured of the disease of drinking  D. a belief that alcoholics can learn to drink moderately  without suffering a relapse. (p.  296)

Ch. 13: White-Collar and Governmental Deviance

48.
Corporate deviance includes which type of deviance?  A.  deviance against  employees  B.  deviance against customers  C.  deviance against the government   D.
deviance against the environment  E. all of the above (p. 301)

49.
According to sociologists David Ermann and Richard Lundman (1996, 1982), which  reasons did they suggest for corporations’ tendency to be negligent about their  employees’ health and safety?  A.  profit maximization  B.  corporate structure  C.   government’s reluctance to take action against offending corporations  D.  all of the  above  E.  none of the above.  (p. 301-2)
50.
Which of the following are considered forms of corporate deviance against  customers?  A.  dangerous foods  B.  unsafe products  C.  frauds  D.  deceptive  advertising  E.  all of the above. (p. 302)
51.
Which of the following forces can be attributed to antitrust violations?  

A.
history of  cooperation among corporations  B.  oligopolistic market  C.  lack of public awareness of  antitrust violations  D.  all of the above  E.  none of the above. (p. 305)

52.
Most corporate deviance against the government involves A. antitrust violations B.  tax evasion C. frauds  D.  unsafe products  E. dangerous foods.  (p. 305)

53.
Which agency enforced the Superfund law in the late 1980s against corporations  guilty of polluting the environment?  A.  DEA  B.  OSHA  C.  EPA  

D.
FBI  E.  CIA (p.  307)

54.
When politicians split up a rich donor’s contributions to political campaigns in order  to evade the campaign finance laws, it is called  A.  earmarking B.  splitting  C.  political  theft  D.  power manipulation  E. none of the above(p. 317)

Ch. 14:  Disreputable Economic Deviance

55.
According to Thio, which of the following location has the highest percentage of  indoor robberies?  A.  commercial house  B. residence  C.  convenience store  D.  gas  station  E. bank (p. 329)
56.
Which of the following is NOT another type of amateur robber?  A.  opportunist  robber,  B.  addict robbers  C.  professional robbers  D.  alcoholic robbers  E.  none of the  above. (p. 329-330)
57.
According to John Conklin (1972), he uses the concept of _____ to explain the  causes of robbery.  A.  economic abundance  B.  relative deprivation  C.  deviant  motivation  and opportunity  D.  modus operandi  E.  none of the above.  (p. 331)
58.
Which group of people have higher rates of shoplifting?  A.  lower class B.  unemployed C. homeless  D. drug addicts  E.  all of the above (p. 335)
59.
What types of illegal goods and services are sold by the Mafia?  A. illicit gambling   B.  loan sharking  C.  narcotics  D.  guns  E.  none of the above.  (p. 337)
60.
Organized crime also exists in other societies.  Which of the following is considered  a legitimate organized crime group?  A.  Mafia in Italy  B. Yakuza in Japan  C.  Triads in  Hong Kong  D. Mafiya in Russia  E.  all of the above.  (p. 341-44)

Part04:  Lecture Items and Video:  New Items

Video 13a: How to Steal $500 Million

61.
Who did Micky Monus tend to hire to run his new business empire? A. friends of the  family B. older men, C. male relatives, D. men who had had run-ins with the law for  shady business practices, E.men who had little or no experience.
62.
What did retailers attend every year (where they negotiated directly with vendors to  purchase products for the following year)? A. Manufacturers Products Exposition, B.  Retailers Convention, C. Merchandise Show, D. Vendor Products Wholesale Show, E.  Whole Convention. 
63.
The auditing firm of Cooper and Lybrand audited a sample of Phar-Mor stores and  reported what in 1989? A. Phar-Mor made record profits, B. Phar-Mor had losses of $12  million, C. individual store managers were overstating there inventory, D. Phar-Mor had  an annual loss of $5 million, E.Phar-Mor made a profit of $12 million. 
64.
At the time when Phar-Mor was about to go public (sell public stock), Imbrie heard  scuttlebutt at a retail convention in Las Vegas and sent a memo reporting rumors to  Shapira (CEO). What did Imbrie tell Shapira? A. to rip up the memo, 

B.
tell Monus, C.  watch carefully and gather more information, D. tell the 

S.E.C., E. none of the above.
65. Newcomer Stan Cherelstein  says he feared going over the heads of Finn, etc.  because  A. he was unsure of what was happening, B. he desperately needed his job, C. they had  incriminating evidence that could make him the fall guy. D. he was afraid of physical  harm, E. all of the above.
Video 13B: Smoke in the Eye

66. In August 1995, one former top level tobacco executive broke the silence and told  which network about the known hazards of cigarettes?  A. NBC’s Day One B.  CBS’s  20/20 C. ABC’s 60 Minutes D. NBC’s 48 Hours E. CBS’s 60 Minutes.

67. Ron Motley was surprised to see how much information was disclosed in the network  broadcast.  Why?  A. represented tobacco companies in their lawsuit to suppress  information. B. felt the information would put his client(an informant)at risk.  C.  represented several clients seeking damages for tobacco related health problems.  D. was  a network attorney and felt they would be exposed to legal liability.  E. was a government  attorney investigating tobacco advertising.

68. According to Paul Friedman, ABC network lawyers felt strongly that there would be  legal liabilities if ABC used the leaked documents.  The concern was over the _____ of  the information.   A. accuracy  B. cost  C. origin D. source  E. reliability.

69. After sixteen months, ABC’s lawyers moved to dismiss the case with Philip Morris  claiming that the documents were what? A. frivolous and unrelated to the case.  B.  showed that Philip Morris added significant amounts of nicotine to cigarettes.  C. backed  up by expert witness testimony. D. provided information that the public needed to know.    E. came from unknown and therefore unreliable sources.

70. According to the CBS Chief Counsel, interviewing former tobacco executives in  violation of their confidentiality agreements would lead to what?  A.  tortuous  interference.  B. trade secret infringement.  C. reckless disregard of facts.  D. unfair  restraint of trade.  E. legal injunctions.
Video 13C: High Crimes and Misdemeanors

71. With three hostages remaining what does Moyers see as the alternatives open to The  White House?  A. continue cash for hostage, B. call it quits, C. release of all hostages  before any more shipments, D. A and B, E. all of the above.
72. When John Wallach published the first story that the United States was planning to  mine the harbors of Nicaragua what did Oliver North do? A. North issued an immediate  denial, B. North called a press conference at which President Reagen denounced all  claims, C. North began tracking the handful of reporters who kept working on the story,  D. North used his influence to have pressure applied through The Washington Post, E.  North went to the Secretary of Defense to have the department issue statements denying  the claim.
73. According to Bill Parry how did the press assist in the cover-up? A. by lacking  courage at the editorial level, B. failing to follow through on the information, C. being  unwilling to go against the government officials who were misleading them with  misinformation, D. timidity, E. all of the above.
74. What office did Moyers identify as being part of the cover-up? A. The CIA, The  Department of Defense, the Attorney General, the Vice President, The Office of the  President, B. The Department of Defense, The Chairman of the Joint Chiefs of Staff, the  Vice President, The Office of the President, C. The CIA, The Attorney General, the Vice  President, The Office of the President, The Chairman of the Joint Chiefs of Staff, D. The CIA and The Department of Defense, E. The CIA, The Ambassador to Israel, The Joint  Chiefs of Staff.
75. What does Judge Sofaer claim to have done to save the President from those people  who were briefing him? A. Wrote a memo to Schultz to go in and tell the President to  walk away from these kind of rationalizations, B. Wrote a letter to Schultz  recommending that President Reagen dismiss William Casey, C. Threat to blow the  whistle and expose what he knew.  D. only A and B, E. only A and C.  
Lecture 8: New Criminology

76.  According to Quinney, crime is defined by a political process and is, thus what?  A.  created;  B. unnecessary; C. illegitimate;  D. conservative;  E.  inherently.
77.  An example of the creation of problem populations through the expression of _____  in the capitalist mode of production is found in Marx’s analysis of the “relative surplus  population.”  A. fundamental contradictions, B. disturbance in the system of class rule,   C. false consciousness, D. declining rate of profit, E. dictatorship of the proletariat.
78.  Chambliss reanalyzed Erikson’s work and concluded that it was less a question of  moral boundaries and more a question of what? A. community development;  B. moral  integration;  C. class conflict; D. subculture socialization;  E. political corruption.
79.  According to Spitzer, normalization, conversion, containment, and support of  criminal enterprise are alternative responses to what? A. alienation, B.  bourgeois  capitalism, C. false consciousness, D. the overproduction of deviance, E. monopolization  of violence by the state.
80.  According to Spitzer, we should expect a country like ours to make deviance out of  the mentally ill.  Why? A. they represent costs to the economic system without  compensating productivity, B. they cannot be indoctrinated as easily as others, C. they  are a threat to patriarchy, D. spend money irresponsibly, E.  are too susceptible to fringe  politics.
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